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2002年1月大学英语四级考试试卷、答案
Part I Listening Comprehension　20 minutes)
Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversa-tion, a question will be asked about what was said. Both the conversation and the question will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
Example:　　You will hear:
　　　　　　You will read:
　　　　　　　　　　　　　　　　　　A) At the office.
　　　　　　　　　　　　　　　　　　B) In the waiting room.
　　　　　　　　　　　　　　　　　　C) At the airport.
　　　　　　　　　　　　　　　　　　D) In a restaurant.
　　From the conversation we know that the two were talking about some work they had to finish in the evening. This is most likely to have taken place at the office. Therefore, A) "At the office" is the best answer. You should choose [A] on the Answer Sheet and mark it with a single line through the centre.
　　　　　　　　　　　　　　　　　　　　　　　　　　Sample Answer [ A ] [B] [C] [D]

1.  A) She has to post a letter instead.
　　B) She has to turn down the man's request.
　　C) She's not sure if the computer is fixed.
　　D) She can't send the message right now.

2.  A) He didn't get the book he needed.
　　B) He had no idea where the book was.
　　C) The library is closed on weekends.
　　D) He was not allowed to check out the book.

3.  A) Play a tape recorder. 　　　　　　　　　　 C) Repair a typewriter.
　　B) Take a picture.　　　　　　　　　　　　　　D) Start a car.

4.  A) The woman rejected the man's apology.
　　B) The woman appreciated the man's offer.
　　C) The man had forgotten the whole thing.
　　D) The man had hurt the woman's feelings.

5.  A) The woman is meeting the man at the airport.
　　B) They are complaining about the poor airport service.
　　C) They are discussing their plan for Christmas.
　　D) The man is seeing the woman off.

6.  A) She plans to go to graduate school.
　　B) She will drop out of school.
　　C) She will stop working and concentrate on her studies.
　　D) She will take a part-time job.

7. A) He needs another job as research assistant.
   B) He asked Professor Williams for assistance.
   C) He assists Professor Williams with his teaching.
   D) He is doing research with Professor Williams.

8. A) She thought there were no tickets left for the show.
　 B) She thought the seats on the left side were fully occupied.
　 C) The show was planned a long time ago.
　 D) The audience were deeply impressed by the show.

9.  A) Mr. Long's briefing was unnecessarily long.
　　B) The woman should have been more attentive.
　　C) Mr. Long's briefing was not relevant to the mission.
　　D) The woman needn't have attended the briefing.

10. A) In a bank.　　　　　　　　　　　　  C) In a clothing store.
　　B) In a school.　　　　　　　　　　　　D) In a barbershop.

Section B
Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A), B), C) and D). Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) Because the bird couldn't repeat his master's name.
　　B) Because the bird screamed all day long.
　　C) Because the bird uttered the wrong word.
　　D) Because the bird failed to say the name of the town.

12. A) The cruel master.　　　　　　　　　　C) The pet bird.
　　B) The man in the kitchen.　　　　　　　　D) The fourth chicken.

13. A) The bird had finally understood his threat.
　　B) The bird managed to escape from the chicken house.
　　C) The bird had learned to scream back at him.
　　D) The bird was living peacefully with the chickens.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) They are kept in open prisons.
　　B) They are allowed out of the prison grounds.
　　C) They are ordered to do cooking and cleaning.
　　D) They are a small portion of the prison population.

15. A) Some of their prisoners are allowed to study or work outside prisons.
　　B) Most of their prisoners are expected to work.
　　C) Their prisoners are often sent to special centers for skill training.
　　D) Their prisoners are allowed freedom to visit their families.

16. A) They are encouraged to do maintenance for the training centre.
　　B) Most of them get paid for their work.
　　C) They have to cook their own meals.
　　D) They can choose to do community work.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) Because they have a driving license.
　　B) Because they have received special training.
　　C) Because the traffic conditions in London are good.
　　D) Because the traffic system of the city is not very complex.

18. A) Two to four months.　　　　　　　　　　C) At least half a year.
　　B) About three weeks.　　　　　　　　　　　D) Two years or more.

19. A) Government officers are hard to please.
　　B) The learner has to go through several tough tests.
　　C) The learner usually fails several times before he passes it.
　　D) The driving test usually lasts two months.

20. A) They don't want their present bosses to know what they're doing.
　　B) They want to earn money from both jobs.
　　C) They cannot earn money as taxi drivers yet.
　　D) They look forward to further promotion.

Part II Reading Comprehension( 35 minutes)
Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C) and D). You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage One
Questions 21 to 25 are based on the following passage.
　　Some pessimistic experts feel that the automobile is bound to fall into disuse. They see a day in the not-too-distant future when all autos will be abandoned and allowed to rust. Other authorities, however, think the auto is here to stay. They hold that the car will remain a leading means of urban travel in the foreseeable future.
　　The motorcar will undoubtedly change significantly over the next 30 years. It should become smaller, safer, and more economical, and should not be powered by the gasoline engine. The car of the future should be far more pollution-free than present types.
　　Regardless of its power source, the auto in the future will still be the main problem in urbantraffic congestion (拥挤). One proposed solution to this problem is the automated highway system.
　　When the auto enters the highway system, a retractable (可伸缩的) arm will drop from the auto and make contact with a rail, which is similar to those powering subway trains electrically.Once attached to the rail, the car will become electrically powered from the system, and control of the vehicle will pass to a central computer. The computer will then monitor all of the car's move-ments.
　　The driver will use a telephone to dial instructions about his destination into the system. The computer will calculate the best route, and reserve space for the car all the way to the correct exit from the highway. The driver will then be free to relax and wait for the buzzer (蜂鸣器) that will warn him of his coming exit. It is estimated that an automated highway will be able to handle 10,000 vehicles per hour, compared with the 1,500 to 2,000 vehicles that can be carried by a present-day highway.

21. One significant improvement in the future car will probably be________.
　　A) its power source　　　　　　　　　　  C) its monitoring system
　　B) its driving system　　　　　　　　　　D) its seating capacity

22. What is the author's main concern?
　　A) How to render automobiles pollution-free.
　　B) How to make smaller and safer automobiles.
　　C) How to solve the problem of traffic jams.
　　D) How to develop an automated subway system.

23. What provides autos with electric power in an automated highway system?
　　A) A rail. 　　　　　　　　　　　　　　 C) A retractable arm.
　　B) An engine. 　　　　　　　　　　　　　D) A computer controller.

24. In an automated highway system, all the driver needs to do is _______.
　　A) keep in the right lane
　　B) wait to arrive at his destination
　　C) keep in constant touch with the computer center
　　D) inform the system of his destination by phone

25. What is the author's attitude toward the future of autos?
　　A) Enthusiastic.　　　　　　　　　　C) Optimistic.
　　B) Pessimistic. 　　　　　　　　　　D) Cautious.

Passage Two
Questions 26 to 30 are based on the following passage.
　　Foxes and farmers have never got on well. These small dog-like animals have long been accused of killing farm animals. They are officially classified as harmful and farmers try to keep their numbers down by shooting or poisoning them.
　　Farmers can also call on the services of their local hunt to control the fox population. Hunting consists of pursuing a fox across the countryside, with a group of specially trained dogs, followed by men and women riding horses. When the dogs eventually catch the fox they kill it or a hunter shoots it.
　　People who take part in hunting think of it as a sport; they wear a special uniform of red coats and white trousers, and follow strict codes of behavior. But owning a horse and hunting regularly is expensive, so most hunters are wealthy.
　　It is estimated that up to 100,000 people watch or take part in fox hunting. But over the lastcouple of decades the number of people opposed to fox hunting, because they think it is brutal (残酷的), has risen sharply. Nowadays it is rare for a hunt to pass off without some kind of confrontation (冲突) between hunters and hunt saboteurs (阻拦者). Sometimes these incidents lead to violence, but mostly saboteurs interfere with the hunt by misleading riders and disturbing the trail of the fox's smell, which the dogs follow.
　　Noisy confrontations between hunters and saboteurs have become so common that they are almost as much a part of hunting as the pursuit of foxes itself. But this year supporters of fox hunting face a much bigger threat to their sport. A Labour Party Member of the Parliament, Mike Foster, is trying to get Parliament to approve a new law which will make the hunting of wild animals with dogs illegal. If the law is passed, wild animals like foxes will be protected under the ban in Britain.

26. Rich people in Britain have been hunting foxes
　　A) for recreation　　　　　　　　　　　　　　C) to limit the fox population
　　B) in the interests of the farmers　　　　　　D) to show off their wealth

27. What is special about fox hunting in Britain?
　　A) It involves the use of a deadly poison.
　　B) It is a costly event which rarely occurs.
　　C) The hunters have set rules to follow.
　　D) The hunters have to go through strict training.

28. Fox hunting opponents often interfere in the game________.
　　A) by resorting to violence　　　　　　　　　　C) by taking legal action
　　B) by confusing the fox hunters　　　　　　　　D) by demonstrating on the scene

29. A new law may be passed by the British Parliament to________.
　　A) prohibit farmers from hunting foxes
　　B) forbid hunting foxes with dogs
　　C) stop hunting wild animals in the countryside
　　D) prevent large-scale fox hunting

30. It can be inferred from the passage that ________.
　　A) killing foxes with poison is illegal
　　B) limiting the fox population is unnecessary
　　C) hunting foxes with dogs is considered cruel and violent
　　D) fox-hunting often leads to confrontation between the poor and the rich

Passage Three
Questions 31 to 35 are based on the following passage.
　　For an increasing number of students at American universities, Old is suddenly in. The reason is obvious: the graying of America means jobs. Coupled with the aging of the baby-boom ( 生育高峰) generation, a longer life span means that the nation's elderly population is bound to expand significantly over the next 50 years. By 2050, 25 percent of all Americans will be older than 65, up from 14 percent in 1995. The change poses profound questions for government and society, of course. But it also creates career opportunities in medicine and health professions, and in law and business as well. "In addition to the doctors, we're going to need more sociologists, biologists, urban planners and specialized lawyers," says Professor Edward Schneider of the University of Southern California's (USC) School of Gerontology (老年学). 
　　Lawyers can specialize in "elder law," which covers everything from trusts and estates to nursing-home abuse and age discrimination (歧视). Businessmen see huge opportunities in the elder market because the baby boomers, 74 million strong, are likely to be the wealthiest group of retirees in human history. "Any student who combines an expert knowledge in gerontology with, say, an MBA or law degree will have a license to print money," one professor says. 
　　Margarite Santos is a 21-year-old senior at USC. She began college as a biology major but found she was "really bored with bacteria."So she took a class in gerontology and discovered that she liked it. She says, "I did volunteer work in retirement homes and it was very satisfying."

31. "… Old is suddenly in" (Line 1, Para. 1) most probably means"______".
　　A) America has suddenly become a nation of old people
　　B) gerontology has suddenly become popular
　　C) more elderly professors are found on American campuses
　　D) American colleges have realized the need of enrolling older students

32. With the aging of America, lawyers can benefit ______.
　　A) from the adoption of the "elder law"
　　B) from rendering special services to the elderly
　　C) by enriching their professional knowledge
　　D) by winning the trust of the elderly to promote their own interests

33. Why can businessmen make money in the emerging elder market?
　　A) Retirees are more generous in spending money.
　　B) They can employ more gerontologists.
　　C) The elderly possess an enormous purchasing power.
　　D) There are more elderly people working than before.

34. Who can make big money in the new century according to the passage?
　　A) Retirees who are business-minded.
　　B) The volunteer workers in retirement homes.
　　C) College graduates with an MBA or law degree.
　　D) Professionals with a good knowledge of gerontology.

35. It can be seen from the passage that the expansion of America's elderly population ________.
　　A) will provide good job opportunities in many areas
　　B) will impose an unbearable burden on society
　　C) may lead to nursing home abuse and age discrimination
　　D) will create new fields of study in universities

Passage Four
Questions 36 to 40 are based on the following passage.
The decline in moral standards-which has long concerned social analysts-has at last captured the attention of average Americans. And Jean Bethke Elshtain, for one, is glad.

　　The fact that ordinary citizens are now starting to think seriously about the nation's moral climate, says this ethics (伦理学) professor at the University of Chicago, is reason to hope that new ideas will come forward to improve it.
　　But the challenge is not to be underestimated. Materialism and individualism in American society are the biggest obstacles. "The thought that 'I'm in it for me' has become deeply rooted in the national consciousness," Ms. Elshtain says.
　　Some of this can be attributed to the disintegration of traditional communities, in which neighbors looked out for one another, she says. With today's greater mobility and with so many couples working, those bonds have been weakened, replaced by a greater emphasis on self.
　　In a 1996 poll of Americans, loss of morality topped the list of the biggest problems facing the U.S. And Elshtain says the public is correct to sense that: Data show that Americans are struggling with problems unheard of in the 1950s, such as classroom violence and a high rate of births to unmarried mothers.
The desire for a higher moral standard is not a lament (挽歌) for some nonexistent "golden age," Elshtain says, nor is it a wishful ( 一厢情愿的 ) longing for a time that denied opportunities to women and minorities. Most people, in fact, favor the lessening of prejudice.
　　Moral decline will not be reversed until people frnd ways to counter the materialism in society,she says. "Slowly, you recognize that the things that matter are those that can't be bought."

36. Professor Elshtain is pleased to see that Americans________.
　　A) have adapted to a new set of moral standards
　　B) are longing for the return of the good old days
　　C) have realized the importance of material things
　　D) are awakening to the lowering of their moral standards

37. The moral decline of American society is caused mainly by
　　A) its growing wealth
　　B) the self-centeredness of individuals
　　C) underestimating the impact of social changes
　　D) the prejudice against women and minorities

38. Which of the following characterizes the traditional communities?
　　A) Great mobility. 　　　　　　　　　　C) Emphasis on individual effort.
　　B) Concern for one's neighbors.　　　　D) Ever-weakening social bonds.

39. In the 1950s, classroom violence
　　A) was something unheard of　　　　　　　　C) attracted a lot of public attention
　　B) was by no means a rare occurrence　　　　D) began to appear in analysts' data

40. According to Elshtain, the current moral decline may be reversed
　　A) if people can return to the "golden age"
　　B) when women and men enjoy equal rights
　　C) when people rid themselves of prejudice
　　D) if less emphasis is laid on material things

Part III Vocabulary and Structure　(20 minutes)
Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the ONE answer that best compl-etes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

41. By the time you get to New York, I _______for London.
　　　　A) would be leaving　　　　　　　　　　C) have already left
　　　　B) am leaving　　　　　　　　　　　　　D) shall have left

42. The article suggests that when a person _______ under unusual stress he should be especially careful to have a well-balanced diet.
　　　　A) is 　　　　　　　　　　　　　　　　C) be
　　　　B) were　　　　　　　　　　　　　　　 D) was

43. The lawyer advised him to drop the _______, since he stands little chance to win.
　　　　A) event　　　　　　　　　　　　　 C) case
　　　　B) incident　　　　　　　　　　　　D) affair

44. Sometimes children have trouble _______fact from fiction and may believe that such things actually exist.
　　　　A) to separate　　　　　　　　　　　 C) for separating
　　　　B) separating　　　　　　　　　　　　D) of separating

45. He is quite sure that it's ________ impossible for him to fulfill the task within two days.
　　　　A) absolutely　　　　　　　　　　　　　　C) fully
　　　　B) exclusively　　　　　　　　　　　　　 D) roughly

46. There was a big hole in the road which ________ the traffic.
　　　　A) set back 　　　　　　　　　　　　C) held up
　　　　B) stood back　　　　　　　　　　　 D) kept down

47. Many a delegate was in favor of his proposal that a special committee _______ to investigate the incident.
　　　　A) were set up　　　　　　　　　　　　 C) be set up
　　　　B) was set up　　　　　　　　　　　　　D) set up

48. In the Chinese household, grandparents and other relatives play ________ roles in raising children.
　　　　A) incapable　　　　　　　　　　　　C) insensible
　　　　B) indispensable　　　　　　　　　　D) infinite

49. Eye contact is important because wrong contact may create a communication ________.
　　　　A) tragedy　　　　　　　　　　　　　　C) question
　　　　B) vacuum　　　　　　　　　　　　　　 D) barrier

50. There was such a long line at the exhibition ________ we had to wait for about half an hour.
　　　　A) as　　　　　　　　　　　　　　　　C) so
　　　　B) that　　　　　　　　　　　　　　　D) hence

51. There is no _______ to the house from the main road.
　　　　A) access　　　　　　　　　　　　　　C) exposure
　　　　B) avenue　　　　　　　　　　　　　　D) edge

52. ________ energy under the earth must be released in one form or another, for example, an earthquake.
　　　　A) Accumulated　　　　　　　　　　　　C) Assembled
　　　　B) Gathered　　　　　　　　　　　　　 D) Collected

53. He wasn't appointed chairman of the committee, ________ not very popular with all its members.
　　　　A) to be considered　　　　　　　　   C) being considered
　　　　B) considering　　　　　　　　　　　　D) having considered

54. The twentieth century has witnessed an enormous worldwide political, economic and cultural
　　　　A) tradition　　　　　　　　　　　　 C) transmission
　　　　B) transportation　　　　　　　　　　D) transformation

55. The ________ stuck on the envelope says "By Air".
　　　　A) diagram　　　　　　　　　　　　  C) signal
　　　　B) label　　　　　　　　　　　　　　D) mark

56. Mobile telecommunications ________ is expected to double in Shanghai this year as a result of a contract signed between the two companies.
　　　　A) capacity　　　　　　　　　　　　 C) possession
　　　　B) potential　　　　　　　　　　　　D) impact

57. Reading ________ the lines, I would say that the Government are more worried than they will admit.
　　　　A) behind　　　　　　　　　　　　　　 C) along
　　　　B) between　　　　　　　　　　　　　　D) among

58. My brother's plans are very ________; he wants to master English, French and Spanish before he is sixteen.
　　A) arbitrary　　　　　　　　　　　　　　 C) ambitious
　　B) aggressive　　　　　　　　　　　　　　D) abundant

59. Things might have been much worse if the mother _______ on her right to keep the baby.
　　　　A) has been insisting　　　　　　　　　　  C) would insist
　　　　B) had insisted　　　　　　　　　　　　　　D) insisted

60. The statistical figures in that report are not ________ . You should not refer to them.
　　　　A) accurate　　　　　　　　　　　　　　 C) delicate
　　　　B) fixed　　　　　　　　　　　　　　　　D) rigid

61. Contrast may make something appear more beautiful than it is when ________ alone.
　　A) seen　　　　　　　　　　　　　　   C) to be seen
　　B) is seen　　　　　　　　　　　　　　D) having been seen

62. The football game comes to you ________ from New York.
　　A) lively　　　　　　　　　　　　C) live
　　B) alive　　　　　　　　　　　　 D) living

63. None of us expected the chairman to ________at the party. We thought he was still in hospital.
　　A) turn in　　　　　　　　　　　　　　  C) turn up
　　B) turn over　　　　　　　　　　　　　　D) turn down

64. The mother didn't know who ________ for the broken glass.
　　A) blamed　　　　　　　　　　　　　　   C) to blame
　　B) be blamed　　　　　　　　　　　　　　D) would blame

65. He ________ to his customers and halved the price.
　　A) leaked　　　　　　　　　　　　C) quoted
　　B) drew　　　　　　　　　　　　  D) yielded

66. Tryon was extremely angry, but cool-headed enough to ________ storming into the boss's office.
　　A) prevent　　　　　　　　　　　　 C) turn
　　B) prohibit　　　　　　　　　　　　D) avoid

67. All flights ________ because of the terrible weather, they had to go there by train.
　　A) having been canceled　　　　　　　　 C) having canceled
　　B) had been canceled　　　　　　　　　　D) were canceled

68. The author of the report is well ________ with the problems in the hospital because he has been working there for many years.
　　A) informed　　　　　　　　　　　　  C) enlightened
　　B) acquainted　　　　　　　　　　　　D) acknowledged

69. The boy spent as much time watching TV as he ________ studying.
　　A) does　　　　　　　　　　　　　　C) was
　　B) had　　　　　　　　　　　　　　 D) did

70. The ship's generator broke down, and the pumps had to be operated ________ instead of mechanically.
　　A) manually　　　　　　　　　　　　　　C) automatically
　　B) artificially　　　　　　　　　　　　D) synthetically

Part IV　Cloze (15 minutes)
Directions: There are 20 blanks in the following passage. For each blank there are four choices
marked A), B), C) and D) on the right side of the paper. You should choose the ONE that best fits into the passage. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

　　One summer night, on my way home from work I decided to see a movie. I knew the theatre would be air-conditioned and I
couldn't face my 71 apartment.
　　Sitting in the theatre I had to look through the 72 between the two tall heads in front of me. I had to keep changing the 73 every time she leaned over to talk to him, 74 he leaned over to kiss her. Why do Americans display such 75 in a public place? 
    I thought the movie would be good for my English, but 76 it turned out, it was an Italian movie. 77 about an hour I decided to give up on the movie and 78 on my popcorn ( 爆玉米花 ). I've never understood why they give you so much popcorn! It tasted
pretty good, 79 . After a while I heard 　80 more of the romantic-sounding Italians. I just heard the 81 of the popcorn 
crunching ( 咀嚼 ) between my teeth. My thought started to 82 . I remembered when I was in South Korea (韩国 ), I 83 to watch Kojak on TV frequently. He spoke perfect Korean - I was really amazed. He seemed like a good friend tome, 84 _ I saw him again in New York speaking 85 . English instead of perfect Korean. He didn't even have a Korean accent and I 86 like I had been betrayed. 
    When our family moved to the United States six years ago, none of us spoke any English.87 we had begun to learn a few words, my mother suggested that we all should speak English at home. Everyone agreed, but our house became very 88 and we all seemed to avoid each other. We sat at the dinner table in silence, prefer-ring that to 89 . in a difficult language. Mother tried to say something in English but it 90 out all wrong and we all burst into laughter and decided to forget it! We've been speaking Korean at home ever since.

 71. A) warm　　　     B) hot　　       C) heated　　　　　 D) cool
 72. A) crack　　      B) blank　　     C) break　　　　　　D) opening
 73. A) aspect　       B) view　　　　  C) space　　　　　　D) angle
 74. A) while　　　    B) whenever 　   C) or　　　         D) and
 75. A) attraction     B) attention　   C) affection　　    D) motion
 76. A) since　        B) when　　　　  C) what　　　　　　 D) as
 77. A) Within 　　    B) After　　     C) For　　          D) Over
 78. A) concentrate    B) chew　        C) fix    　　　　　D) taste
 79. A) too　　　　  　B) still　       C) though   　　　　D) certainly
 80. A) much　　　     B) any　　       C) no　　　　　   　D) few
 81. A) voice　　      B) sound　　　   C) rhythm　　　　   D) tone
 82. A) wonder　　　   B) wander　　    C) imagine　　　　　D) depart
 83. A) enjoyed　　　　B) happened　　  C) turn 　　　　　　D) used
 84. A)until　　　　   B) because　     C) then   　　　　　D) therefore
 85. A) artificial　　 B) informal　　  C) perfect　　　　  D) practical
 86. A) felt　　　     B) looked　　　  C) seemed　　　　　 D) appeared
 87. A) While　　      B) If　　　　    C) Before　　　　   D) Once
 88. A) empty　　　　  B) quiet　　     C) stiff　　　　    D) calm
 89. A) telling　　　　B) uttering　    C) saying　　　　　 D) speaking
 90. A) worked　　　　 B) got　　       C) came　　　　     D) made


Part V Writing (30 minutes)
Directions: For this part, you are allowed thirty minutes to write a composition on the topic:
　　　　　A Letter to the University President about the Canteen Service on Campus. You should write at least 100 words, and base your composition on the outline given in Chinese below:

假设你是李明，请你就本校食堂的状况给校长写一封信，内容应涉及食堂的饭菜质量、价格、环境、服务等，可以是表扬，可以是批评建议，也可以兼而有之。

January 12th, 2002            

Dear Mr. President,

_______________________________________________________________________________________________________

_______________________________________________________________________________________________________

_______________________________________________________________________________________________________
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2002年1月大学英语四级答案及听力原文 

2002年1月12日四级考试解析 
Part I Listening comprehension 

1.[D]计算机已坏，当然不能马上发邮件，所以答案为D。 

2.[A]既然去时图书馆已经闭馆，当然书也就没有借到，由it closed before I got there可以推论 说话者没有借到书。 

3.[A] play键自然是放音的，由此可以判断女士是在play a tape recorder。 

4.[A]从OK, we can drop it this time可以判断A不对，从男的道歉来看，是男的曾伤害女士，所以答案为D。 

5.[D]从男士许诺保持联系和要飞过去看女士来看，男的是在为女的送行，答案为D。 

6.[C]从fulltime student来看，说话者是要停止工作全身心地投入学习。 

7.[C] teaching assistant的工作自然是协助教授授课，即assists the professor with his teaching。 

8.[A] 认为票很早就买完了也就是认为没有票了。 

9.[B]当然男士说How could you sleep through that?显然是责备对方不应该睡觉，那就是应该更认真些，即B。 

10.[A]从finance and economics来看，说话者是想在银行工作。 

11.[D]本题为信息再现题，文章有明确的表达the man did everything he could to teach the parrot to say Ketennel, the name of his native town, but the never succeeded, .. he lost his temper。 

12.[C]从文章最后The parrot was screaming at the fourth, "Say Ketunnel, or I'll kill you,"来判断是鹦鹉杀死了三只鸡，即the pet bird。 

13.[A] 鹦鹉恐吓鸡的语言与作者所用的语言一致，说明鹦鹉明白了作者的恐吓，答案为A。 

14.[D]本题为细节判断题，从about 5 percent of the present population are women可以判断妇女在英国囚犯中占的比例很小。 

15.[A]本题为细节判断题。文章最后一句some are allowed out of the ground to study or to do community work说明允许囚犯到外面学习或工作，即A。 

16.[B] 本题为细节判断题，文章在介绍封闭性监狱时提到Most of them are paid for what they do.由此可以判断答案为B。 

17.[B]本题为信息再现题，可遵循听到的是解的原则，根据the reasons London taxi drivers are so efficient is that they all have gone through a very tough training period可以判断答案 B。 

18.[D] 本题为信息再现题。which can take two to four years说明答案为D。 

19.[A]从主考官的表现可以看处，主考官很严厉，不管你做得多么好，都不会有什么笑脸，不会有什么称赞，所以答案为A。 

20.[C] 文章learner drivers are not allowed to work and earn money as drivers. Therefore, many of them keep their previous jobs说明答案为C，即在学习驾驶时他们没有薪水，所以必须keep previous jobs。 

Part II. Reading comprehension 
21. [C] 从本题的题干来看，未来汽车比较显著的一种变化应该是不同一般的，也应该是文章所着重要介绍的。文章大部分篇幅所介绍的是未来监控系统，所以本题答案应该是C。 

22. [C] 从文章第三段the auto in the future will still be the main problem in urban traffic congestion来看，作者主要关心的还是如何解决交通堵塞的问题，即C。 

23．[A] 根据常识来判断，"可伸缩得手臂 "只是用来连接汽车与铁轨的工具，是能源的传导器，也就是说，提供能源的不是"可伸缩的手臂"，而"铁轨"，所以答案为A。 

24．[D] 文章的最后一段the driver will use a telephone to dial instructions about his destination into the system说明本题的答案为D，即在计算机监控系统下，司机所做的不过是通过电话告诉系统自己的目的地而已。 

25．[C] 从作者对计算机监控系统的使用来看，作者对自行车的前景是抱乐观态度的，所以答案为C。 

26．[A] 从短文第三段People who take part in hunting think of it as a sport可以判断，英国人猎狐是作为一种娱乐和消遣，所以答案为A。 

27．[C] 从文章第三段and follow strict codes of behavior来看，英国人猎狐是又严格规定的，从而说明答案为C。文章第一段虽然提到or poisoning them但下毒却不属于猎狐的范畴，所以A不对。 

28．[B] 本题为细节判断题，文章第四段interfere with the hunt by misleading riders and disturbing the trail of the fox's smell说明答案为B。 

29．[B] 本题也是细节理解题，文章最后提到a new law which will make hunting of wild animals with dogs illegal说明法律禁止带狗狩猎。 

30．[C] 文章倒数第二段叙述了带狗狩猎被禁止的原因，because they think it is brutal 可以判断，带着狗狩猎被认为是一种很残酷的行为。 

31．[B] 本题的理解要结合上下文，从全文来看，本篇文章所介绍的是老年学的问题，所以Old is suddenly in指的是老年学突然流行起来。 

32．[A] 文章的细节都应该与文章的主题有关，从Lawyers can specialize in "elder law"来看，本题答案为A，即律师可以从老年法律中获益。 

33．[A] 文章第二段中are likely to be the wealthiest group of retirees in human history说明了商人之所以能从老年市场获益的原因，是因为这部分退休的老年都十分富有，并且肯为下一代花钱。 

34．[D] 文章提到any student who combines an expert knowledge in gerontology with, say, and MBA or law degree will have a license to print money，但是C只说是拥有MBA或法律学位证书的毕业生，而文章说这些资格应该与老年学专业知识结合，D符合这一点，professionals可以指在在MBA或律师专业比较优秀的人士，所以答案为D。 

35．[A]从文章第一段it also creates career opportunities in medicine and health professionals, and in law and business as well说明美国老龄人口的增加会在很过领域提供就业机会。选项D是事实，不属于推理的结论，不符合题意。 

36．[D] 问题为细节理解题，文章第一段the decline in moral standards has at last captured the attention of average Americans 说明Elshtain教授看到美国人开始意识到道德标准的下降而感到高兴。 

37．[B] 文章第三段With today's greater mobility and with so many couples working, those bonds have been weakened, replaced by a greater emphasis on self说明美国社会道德下降的原因是因为人们太以自我为中心了，即选项B。 

38．[B] 本题为细节判断题。文章第四段the disintergration of traditional communities, in which neighbors looked out for one another，非限制性定语从句解释了传统社区的特点，即邻里之间能相互关照。 

39．[A] 本题为细节辨认题。文章倒数第三段unheard of in the 1950s, such as classroom violence说明在20世纪50年代，教室暴力是闻所未闻之事。 

40．[D] 本题为细节变向表达。文章最后一段Moral decline will not be reversed until people find ways to counter the materialism in society说明如果想改变目前道德标准下降的状况就应该改变物欲太重的现象，即D。 

Part III Vocabulary and Structure 
41. [D]by引导时间状语时，句子一般用完成时态，这里by短语所引导的是将来的时间，因此应该用将来完成时，所以答案为D。 

42．[A] 本题中所填谓语动词是宾语从句中时间状语从句中的谓语动词，不受前面动词的限制，该用什么时态的就用什么时态。从句表示一般将来，因此应该用一般现在，答案A。 

43．[C] 本题为话题同现题，从lawyer的使用可以判断这里所表达的是"案件"，所以答案为C。 

44．[B] 本题为搭配题，表示做某事有困难，一般用have trouble in doing something, in可以省略，所以答案为B。 

45．[A] 本题为搭配同现题，一般表示"完全不可能，绝对不可能"用absolutely impossible。 

46．[C] 本题表示由于道路中间有个大洞，交通受到阻碍。set back表示"使受挫折"， stand back表示"向后站"， hold up表示"阻挡，拦截"， keep down表示"镇压，保留"。根据本题的意思，应该填hold up, 表示交通受阻。 

47．[C] 本题是对虚拟语气的考查，在表示"命令，建议，要求"的名词性从句中要用should 加原形动词，should可以省略，所以答案为C。 

48．[B]incapable表示"无能"， insensible表示"无知觉，麻木"， indispensable表示"必不可少"， infinite表示"无限的"。本题表示父母在育儿方面是必不可少的，所以答案 B。 

49．[D] 本题为话题同现。不正确的眼睛交流有可能造成交流上的障碍。Tragedy 意为"悲剧"，question意为"问题"， vacuum意为"真空"， barrier意为"障碍物"，所以答案为barrier。 

50．[B] 本题为句型搭配，such … that表示"如此……以致于"。 

51．[A] 本题为搭配题。可以与介词to连用的有access 和exposure，但是exposure意为"暴露，揭发"，与题意不符。本题表示没有通往房间的道路，能表达这一概念的是access。 

52. [A] accumulate意为"积累"，有"逐步，逐渐"的含义， assemble意为"集合"， gather意为"聚集"， collect为"收集"。地球下面的能量是一天天慢慢积攒的，所以答案为accumulate。 

53.[ C] 本题考查的是非谓语动词作状语。非谓语动词做状语时，主要是依据非谓语动词与句子主语之间的关系，如果是动宾关系，则用过去分词，本句中consider与句子主语之间是动宾关系，因此答案为C。 

54．[D] tradition意为"传统"， transmission表示疾病或媒体方面的传播， transportation意为"交通"， transformation表示"转变"，本题表示20世纪发生了世界性的政治、经济和文化方面的转变，所以答案为transformation。 

55．[B] 本题为上下词复现，贴在信封上的就是label。 

56．[C] 本题表示今年上海手机的拥有量会翻一番。Capacity表示"容量"， potential为"潜能"， possession表示"拥有，占有 "，impact表示"冲击"，所以答案为possession。 

57. [B] 本题为固定短语，read between the lines表示能理解文章的深层含义。 

58．[C] 16岁以前想掌握英语、法语和西班牙语，可见是雄心勃勃，能表达此含义的是ambitious, arbitrary意为"武断的"， aggressive表示"侵略性的"， abundant表示"丰富的，充裕的"，都与题意不符。 

59．[B] 本题为虚拟语气，从句表示与过去事实相反的假设，应该用过去完成时，答案为B。 

60．[A] 本题为修饰同现题。用来说明数据的应该是accurate。其他fixed 表示"固定的"，delicate表示"精巧的，精致的，微妙的"， rigid表示"刚性的，严格的"，都与话题不符。 

61．[A] 本题为分词作状语，see与句子主语之间是动宾关系，应该用过去分词，所以答案为seen。 

62．[C]本题为话题同现，足球比赛直播英语为live。 

63．[C] 本题考查的是短语动词意思的差别，turn in表示"上缴"， turn over表示"打翻，反复考虑，周转"， turn up表示"出现，露面"， turn down表示"拒绝"。本题表示主席没有在宴会上露面，所以答案为turn up。 

64. [C] 本题为"疑问词+ 不定式"在句中做宾语，四个选项中只有一个不定式。 

65．[D] 本题为因果同现，价格降了一半显然是向顾客妥协了，答案为yield。其他leak（漏）， draw（画，拉，绘制） quote（引用）都与句子意思不符。 

66．[D] 本题为同现题，如果一个人很冷静的话，就不会闯入办公室，所以答案为avoid。 

67．[A]本题我诶独立主格，独立主格中分词与其逻辑主语间是动宾关系，表示完成，应该用非谓语动词的完成被动形式，即A。 

68．[B] 本题为搭配题，be acquainted with 表示"对……熟悉，了解"。 

69．[D]在比较状语从句中一般应该用助动词或情态动词，本题答案为did用以代替上文中的spend time。 

70．[A] 本题为对立同现，与mechanically相对的应该是manually，即手工。其他选项automatically（自动地） artificially（人工地，假）， synthetically（综合底）都与mechanically不构成同现关系。 

Part IV Cloze 
71. [B] 本题为同现题，在夏天，没有空调，剧院应该是很热，所以答案为hot。 

72．[D]crack指"裂缝"， blank指"空白"， break指"破裂，休息"， opening指"空缺，口子"。这里指两个人头之间的空隙，应该用opening。 

73．[D] 这里表示前面人头位置一变，自己就要改变角度看，角度应该用angle表达。 

74．[C] "男的侧身过去与女的说话"与"女的侧身吻男的"两者之间应该是选择关系，所以答案为or。 

75．[C]本题是对上文中男女两人的所作所为的描写，答案为affection，指两个人之间的亲密。 

76．[D] 这里不是状语从句，而是定语从句，表示"正如接着自己所看到的一样"，具有此功能的是as。 

77.[B] 从时间关系上来看，作者是看了一个小时后才决定放弃电影的，所以答案为after。 

78. [B] 本题为复现题，下文中提到自己只能听到the sound of the popcorn crunching说明自己开始嚼爆玉米花，表示嚼的动词是chew。 

79 [C] It tasted pretty good与上文的I've never understood why they give you so much popcorn之间应该是让步关系，所以答案为though。 

80．[C] 从下文只能听到嚼玉米花的声音判断本题答案为no，表示听不到电影中的浪漫声音。 

81．[B] 本题为同现题，嚼玉米花的声音应该用sound表达。 

82．[B] 从下文中自己所想可以判断这里表示自己的思绪开始游荡，能表达此含义的是wander。Wonder表示"诧异，纳闷"，depart表示离开，imagine表示想象，都与上下文不符。 

83．[D]叙述自己过去的事情，又表示经常性行为，应该用used to。 

84．[A]从下文的betray可以判断，在自己发现真情之前一直把对方当作朋友，四个选项中能表示"到某时为止就不……"的是until。 

85．[B]本题是对立同现题，与perfect语言 相对的应该是不正规语言，应该是informal，其他artificial（人工的，假的） practical （实际的）都与language 不同现，与perfect不对立。 

86．[A]本句表示自己看到这种情况的感觉，四个选项中表示感觉的动词是feel。 

87. [D]本题答案为once表示"我们一开始学习英语，母亲就提出了一个建议，建议我们在家里都说英语"。 

88．[B]从we all seemed to avoid each other 与we sat at the dinner table in silence来看，答案应该是quiet，即大家都保持沉默，屋里十分安静，吃饭时也都是默默地吃。 

89．[D]从句法结构来看，动词后没有宾语，应该用不及物动词，由此可以判断答案为speaking。 

90．[C]本句表示，母亲试着说点英语，结果是错误百出，我们都禁不住发笑。Work out表示"解决，设计处，计算处"， come out表示"出来，出现，真相大白"， get out表示"逃脱，离开"， make out表示"填写，理解，辨认出"。四个短语，能表达结果含义的是come out。 


2002年1月12日四级测试听力原文 
Section A 
1.M: Jessica, could you this emails to all the club members? 
W: Sorry, the computer broke down this morning. I will for you as soon as I have fixed. 
Q: What does the woman imply? 

2.W: Did you find the book for your reading assignment in the library? 
M: It closed before I got there. I had no idea that it closes so early on weekends. 
Q: What does the man mean? 

3.M: Did you check the power plug and press the play button? 
W: Yes, the power indicator was on, and it was running, but somehow the sound didn't come through. 
Q: What was the woman probably trying to do? 

4.M: Juana, I am awfully sorry. I didn't mean to hurt you. Shall we have a beer and forget the whole thing? 
W: OK, we can drop it this time. But don't do it again. 
Q: What do we learn from the conversation? 

5.W: Airports are sad places. 
M: Sometimes, I guess. But we'll keep in touch. And I will fly over to see you with Christmas. 
Q: What are the speakers doing? 

6.M: Are you going to return to your present job after the vacation? 
W: No, I plan to graduate next semester. That means I'll have to be a full-time student. 
Q: What will the woman do? 

7.W: John, are you doing research for Professor Williams this semester? 
M: Actually, I am working as his teaching assistant. 
Q: What does the man mean? 

8.M: I heard there are a few seats left for the show tonight. 
W: Really? I was under the impression that the tickets were sold out a long time ago. 
Q: What do we know from the woman's reply? 

9.W: Mrs. Long's briefing seems to go on forever. I was barely able to stay awake. 
M: How could you sleep through that? It was very important for the mission we were going to carry out. 
Q: What does the man imply? 

10.W: You seem very confident about the job interview, don't you? 
M: Yes, I feel ready for it. I bought a good suit and clothing store and I had my hair cut. I had studied almost everything about finance and economics. 
Q: Where is the man probably going to work? 

Passage 1 
51TestThere was once a man in South America who had a parrot, a pet bird that could imitate human speech. The parrot was unique. There was no bird like him in the whole world. He could learn to say any word except one. He could not say the name of his native town, Ketunnel. The man did everything he could to teach the parrot to say Ketunnel, but he never succeeded. At first he was very gentle with the bird. But gradually, he lost his temper. "You stupid bird. Why can't you learn to say that one word? Say Ketunnel or I will kill you." But the parrot would not say it. Many times the man screamed, "Say Ketunel, or I'll kill you." But the bird would never repeat the name. Finally, the man gave up. He picked up the parrot and threw him into the chicken house. "You are even more stupid than the chickens." In the chicken house, there were four old chickens, waiting to be killed for Sunday's dinner. The next morning, when he went out of the chicken house, the man opened the door. He was shocked by what he saw. He could not believe his eyes and ears. On the floor lay three dead chickens. The parrot was screaming at the fourth, "Say Ketunel, or I'll kill you." 

11.Why did the man lose his temper? 
12.Who killed the three chickens? 
13.Why was the shocked at the scene the next morning? 

Passage 2 
51TestIn Britain, if you are found guilty of a crime, you can be sent to prison or be fined or be ordered to do community work such as tidying public places and helping the old. You may also be sent to special centers when you learn special skills like cooking, writing and car maintenance. About 5 percent of the present population are women. Many prisons were built over one hundred years ago. But the government will have built 11 new prisons by next year. There are two sorts of prisons. The open sort and the closed sort. In the closed sort, prisoners are given very little freedom. They spend three to ten hours outside their cells when they exercise, eat, study, learn skills, watch TV and talk to other prisoners. All prisoners are expected to work. Most of them are paid for what they do, whether it is doing maintenance or cooking and cleaning. Prisoners in open prisons are locked up at night, but for the rest of the time, they are free within the prison grounds. They can exercise, have visitors, or study. And some are allowed out of the ground to study or to do community work. 

14.What do we know about women prisoners in Britain? 
15.In what way are open prisons different from closed prisons? 
16.What do we learn about prisoners in Britain? 

Passage 3 
51TestLondon taxi drivers know the capital like the back of their hands. No matter how small or indistinct the street is, the driver will be able to get you there without any trouble. The reason London taxi drivers are so efficient is that they all have gone through a very tough training period to get special taxi driving license. During this period, which can take two to four years, the would-be taxi driver has to learn the most direct route to every single road and to every important building in London. To achieve this, most learners go around the city on small motorbikes practicing how to move to and from different points of the city. Learner taxi drivers are tested several times during the training period by government officers. The exams are terrible experience. The officers ask you "How do you get from Birmingham palace to the Tower of London?" and you have to take them there in the direct line. When you get to the tower, they won't say "well done". They will quickly move on to the next question. After five or six questions, they will just say "See you in two months' time." and then you know the exam is over. Learner drivers are not allowed to work and earn money as drivers. Therefore, many of them keep their previous jobs until they have obtained the license. The training can cost quite a lot, because learners have to pay for their own expenses on the tests and the medical exam. 

17.Why are London taxi drivers very efficient? 
18.How long does the training period last? 
19.Why does the speaker think the driving test is a terrible experience? 
20.Why do learner drivers have to keep their present jobs? 

2002年6月大学英语四级考试试卷、答案
Part Ⅰ Listening Comprehension ( 20 minutes )　 
Section A 　　
Directions: In this section you will hear 10 short conversations. At the end of each conversation a question will be asked about what was said. Both the conversation and the question will be spoken only once. After each question there will be a pause. During the pause you must read the four choices marked A,B,C and D,and decide which is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line through the centre. 　　 
Example:You will hear　　 
             You will read 
    A At the office. B In the waiting room. 　　C At the airport.      D In a restaurant. 　　 
From the conversation we know that the two were talking about some work they had to finish in the evening. This is most likely to have taken place at the office. Therefore A “At the office” is the best answer. You should choose A on the Answer Sheet and mark it with a single line through the centre. 　　 
                                                                           Sample Answer A B C D　　 
1. A His father.   B His mother.   C His brother.   D His sister.
2. A A job opportunity.          B A position as general manager. 
   C A big travel agency.        D An inexperienced salesman.
3. A Having a break.             B Continuing the meeting. 
   C Moving on to the next item. D Waiting a little longer.
4. A The weather forecast says it will be fine.      　B The weather doesn't count in their plan. 
　 C They will not do as planned in case of rain.   　 D They will postpone their program if it rains.
5. A He wishes to have more courses like it.         　B He finds it hard to follow the teacher. 
　 C He wishes the teacher would talk more.         　 D He doesn't like the teacher's accent.
6. A Go on with the game.                     B Review his lessons. 
   C Draw pictures on the computer.        　 D Have a good rest.
7. A She does not agree with Jack.                   　B Jack’s performance is disappointing. 
　 C Most people will find basketball boring.       　 D She shares Jack's opinion.
8. A The man went to a wrong check-in counter.       　B The man has just missed his flight. 
　 C The plane will leave at 914.                 　 D The plane's departure time remains unknown.
9. A At a newsstand.      　B At a car dealer's.　   C At a publishing house.  　 D At a newspaper office.
10. A He wants to get a new position.         　 B He is asking the woman for help. 
　  C He has left the woman a good impression.　 D He enjoys letter writing. 
　　 
Section B 　 
Directions: In this section you will hear 3 short passage. At the end of each passage you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question you must choose the best answer from the four choices marked A B C and D. Then mark the corresponding letter on the Answer Sheet with a single line through the centre. 
Passage One
Questions 11 to 13 are based on the passage you have just heard. 　　 
11. A They are interested in other kinds of reading. 
　　B They are active in voluntary services. 
　　C They tend to be low in education and in income. 
　　D They live in isolated areas. 
12. A The reasons why people don't read newspapers are more complicated than assumed. 
　　B There are more uneducated people among the wealthy than originally expected. 
　　C The number of newspaper readers is steadily increasing. 
　　D There are more nonreaders among young people nowadays. 
13. A Lowering the prices of their newspapers. 
　　B Shortening their news stories. 
　　C Adding variety to their newspaper content. 
　　D Including more advertisements in their newspapers. 
　　 
Passage Two 　　 
Questions 14 to 17 are based on the passage you have just heard. 
14. A A basket.　 　　C An egg. 　　B A cup. 　　　D An oven. 　　
15. A To let in the sunshine.     B To serve as its door. 
　　C To keep the nest cool. 　　 D For the bird to lay eggs. 　　 
16. A Branches. 　　　　 　C Mud. 　　B Grasses. 　　　　　 D Straw. 　　
17. A Some are built underground.  　　 B Some can be eaten. 
    C Most are sewed with grasses.      D Most are dried by the sun. 
Passage Three 
Questions 18 to 20 are based on the passage you have just heard. 　　 
18. A To examine the chemical elements in the Ice Age. 
　　B To look into the pattern of solar wind activity. 
　　C To analyze the composition of different trees. 
　　D To find out the origin of carbon-14 on Earth. 
19. A The lifecycle of trees. 
　　B The number of trees. 
　　C The intensity of solar burning. 
　　D The quality of air. 
20. A It affects the growth of trees. 
　　B It has been increasing since the Ice Age. 
　　C It is determined by the chemicals in the air. 
　　D It follows a certain cycle. 
　　 
Part Ⅱ Reading Comprehension 35 minutes　　 
Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A B C and D. You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre. 

Passage One 
Questions 21 to 25 are based on the following passage 

　　In the 1960s medical researchers Thomas Holmes and Richard Rahe developed a checklist of stressful events. They appreciated the tricky point that any major change can be stressful. Negative events like “serious illness of a family member” were high on the list but so were some positive life-changing events like marriage. When you take the Holmes-Rahe test you must remember that the score does not reflect how you deal with stress—it only shows how much you have to deal with. And we now know that the way you handle these events dramatically affects your chances of staying healthy.
 　　By the early 1970s hundreds of similar studies had followed Holmes and Rahe. And millions of Americans who work and live under stress worried over the reports. Somehow the research got boiled down to a memorable message. Women’s magazines ran headlines like “Stress causes illness” If you want to stay physically and mentally healthy the articles said avoid stressful events.
 　　But such simplistic advice is impossible to follow. Even if stressful events are dangerous many—like the death of a loved one—are impossible to avoid. Moreover any warning to avoid all stressful events is a prescription (处方) for staying away from opportunities as well as trouble. Since any change can be stressful a person who wanted to be completely free of stress would never marry have a child take a new job or move.
 　　The notion that all stress makes you sick also ignores a lot of what we know about people. It assumes we’re all vulnerable (脆弱的) and passive in the face of adversity (逆境). But what about human initiative and creativity﹖ Many come through periods of stress with more physical and mental vigor than they had before. We also know that a long time without change or challenge can lead to boredom and physical and mental strain. 
21. The result of Holmes-Rahe's medical research tells us ____ . 　　 
A the way you handle major events may cause stress 　　 
B what should be done to avoid stress 　　 
C what kind of event would cause stress 　　 
D how to cope with sudden changes in life 
22. The studies on stress in the early 1970’s led to ____ . 　　 
A widespread concern over its harmful effects 　　 
B great panic over the mental disorder it could cause 　　 
C an intensive research into stress-related illnesses 　　 
D popular avoidance of stressful jobs 
23. The score of the Holmes-Rahe test shows ____ . 　　 
A how much pressure you are under 　　 
B how positive events can change you life 　　 
C how stressful a major event can be 　　 
D how you can deal with life-changing events 
24. Why is “such simplistic advice”Line 1Para.3 impossible to follow﹖ 　　 
A No one can stay on the same job for long 　　 
B No prescription is effective in relieving stress 　　 
C People have to get married someday 　　 
D You could be missing opportunities as well 
25. According to the passage people who have experienced ups and downs may become ____ . 　　 
A nervous when faced with difficulties 　　 
B physically and mentally strained 　　 
C more capable of coping with adversity 　　 
D indifferent toward what happens to them 
Passage Two 
Questions 26 to 30 are based on the following passage 

　　Most episodes of absent-mindedness—forgetting where you left something or wondering why you just entered a room-are caused by a simple lack of attention says Schacter. “You’re supposed to remember something but you haven’t encoded it deeply.”
 　　Encoding Schacter explains is a special way of paying attention to an event that has a major impact on recalling it later. Failure to encode properly can create annoying situations. If you put your mobile phone in a pocket for example and don’t pay attention to what you did because you’re involved in a conversation you’ll probably forget that the phone is in the jacket now hanging in your wardrobe (衣柜). “Your memory itself isn’t failing you” says Schacter. “Rather you didn’t give your memory system the information it needed.” 
　　Lack of interest can also lead to absent-mindedness. “A man who can recite sports statistics from 30 years ago” says Zelinski “may not remember to drop a letter in the mailbox.” Women have slightly better memories than men possibly because they pay more attention to their environment and memory relies on just that.
 　　Visual cues can help prevent absent-mindedness says Schacter. “But be sure the cue is clear and available” he cautions. If you want to remember to take a medication (药物) with lunch put the pill bottle on the kitchen table—don’t leave it in the medicine chest and write yourself a note that you keep in a pocket.
 　　Another common episode of absent-mindedness walking into a room and wondering why you’re there. Most likely you were thinking about something else. “Everyone does this from time to time” says Zelinski. The best thing to do is to return to where you were before entering the room and you’ll likely remember. 
　　 
26. Why does the author think that encoding properly is very important﹖ 　　 
A It helps us understand our memory system better 　　 
B It enables us to recall something from our memory 　　 
C It expands our memory capacity considerably 　　 
D It slows down the process of losing our memory 

27. One possible reason why women have better memories than men is that ____ . 　　 
A they have a wider range of interests 　　 
B they are more reliant on the environment 　　 
C they have an unusual power of focusing their attention 　　 
D they are more interested in what's happening around them 
28. A note in the pocket can hardly serve as a reminder because ____ . 　　 
A it will easily get lost 　　 
B it's not clear enough for you to read 　　 
C it's out of your sight 　　 
D it might get mixed up with other things 
29. What do we learn from the last paragraph﹖ 　　 
A If we focus our attention on one thing we might forget another. 　　 
B Memory depends to a certain extent on the environment. 　　 
C Repetition helps improve our memory. 　　 
D If we keep forgetting things we'd better return to where we were. 
30. What is the passage mainly about﹖ 　　 
A The process of gradual memory loss. 　　 
B The causes of absent-mindedness. 　　 
C The impact of the environment on memory. 　　 
D A way of encoding and recalling. 
Passage Three 
Questions 31 to 35 are based on the following passage 

　　It is hard to track the blue whale the ocean’s largest creature, which has almost been killed off by commercial whaling and is now listed as an endangered species. Attaching radio devices to it is difficult and visual sightings are too unreliable to give real insight into its behavior. 
　　So biologists were delighted early this year when with the help of the Navy they were able to track a particular blue whale for 43 days monitoring its sounds. This was possible because of the Navy’s formerly top-secret system of underwater listening devices spanning the oceans.
 　　Tracking whales is but one example of an exciting new world just opening to civilian scientists after the cold war as the Navy starts to share and partly uncover its global network of underwater listening system built over the decades to track the ships of potential enemies. 
　　Earth scientists announced at a news conference recently that they had used the system for closely monitoring a deep-sea volcanic eruption (爆发) for the first time and that they plan similar studies. Other scientists have proposed to use the network for tracking ocean currents and measuring changes in ocean and global temperatures. 　　The speed of sound in water is roughly one mile a second-slower than through land but faster than through air. What is most important different layers of ocean water can act as channels for sounds focusing them in the same way a stethoscope (听诊器) does when it carries faint noises from a patient’s chest to a doctor’s ear. This focusing is the main reason that even relatively weak sounds in the ocean especially low-frequency ones, can often travel thousands of miles.　 

31. The passage is chiefly about ____ . 　　 
A an effort to protect an endangered marine species. 　　 
B the civilian use of a military detection system. 　　 
C the exposure of a U.S. Navy top-secret weapon. 　　 
D a new way to look into the behavior of blue whales. 

32. The underwater listening system was originally designed ____ . 　　 
A to trace and locate enemy vessels 　　 
B to monitor deep-sea volcanic eruptions 　　 
C to study the movement of ocean currents  
D to replace the global radio communications network 

33. The deep-sea listening system makes use of ____ . 　　 
A the sophisticated technology of focusing sounds under water 　　 
B the capability of sound to travel at high speed 　　 
C the unique property of layers of ocean water in transmitting sound 　　 
D low-frequency sounds travelling across different layers of water 
34. It can be inferred from the passage that____. 　　 
A new radio devices should be developed for tracking the endangered blue whales 　　 
B blue whales are no longer endangered with the use of the new listening system 　　 
C opinions differ as to whether civilian scientists should be allowed to use military technology 　　 
D military technology has great potential in civilian use 
35. Which of the following is true about the U.S. Navy underwater listening network﹖　 
A It is now partly accessible to civilian scientists. 　　 
B It has been replaced by a more advanced system. 　　 
C It became useless to the military after the cold war. 　　 
D It is indispensable in protecting endangered species. 　　 

Passage Four 
Questions 36 to 40 are based on the following passage 

　　The fitness movement that began in the late 1960s and early 1970s centered around aerobic exercise (有氧操). Millions of individuals became engaged in a variety of aerobic activities and literally thousands of health spas developed around the country to capitalize (获利) on this emerging interest in fitness particularly aerobic dancing for females. A number of fitness spas existed prior to this aerobic fitness movement even a national chain with spas in most major cities. However their focus was not on aerobics but rather on weight-training programs designed to develop muscular mass strength and endurance in their primarily male enthusiasts. These fitness spas did not seem to benefit financially from the aerobic fitness movement to better health since medical opinion suggested that weight-training programs offered few if any health benefits. In recent years however weight training has again become increasingly popular for males and for females. Many current programs focus not only on developing muscular strength and endurance but on aerobic fitness as well. 
　　Historically most physical-fitness tests have usually included measures of muscular strength and endurance not for health-related reasons but primarily because such fitness components have been related to performance in athletics. However in recent years evidence has shown that training programs designed primarily to improve muscular strength and endurance might also offer some health benefits as well. The American College of Sports Medicine now recommends that weight training be part of a total fitness program for healthy Americans. Increased participation in such training is one of the specific physical activity and fitness objectives of Healthy People 2000 National Health Promotion and Disease Prevention Objectives. 
36. The word “spas”Line 3Para.1 most probably refers to ____. 　　 
A sports activities   B places for physical exercise    C recreation centers 　D athletic training programs. 
37. Early fitness spas were intended mainly for ____. 　　 
A the promotion of aerobic exercise 　　 B endurance and muscular development 　　 
C the improvement of women's figures 　　D better performance in aerobic dancing 
38. What was the attitude of doctors towards weight training in health improvement﹖ 　　 
A Positive.    B Indifferent.    C Negative.    D Cautious. 
39. People were given physical fitness tests in order to find out ____ . 　　 
A how well they could do in athletics 　　              B what their health condition was like 　　 
C what kind of fitness center was suitable for them 　　D whether they were fit for aerobic exercise 
40. Recent studies have suggested that weight training ____ . 　　 
A has become an essential part of people’s life. 　　B may well affect the health of the trainees. 　　 
C will attract more people in the days to come. 　　  D contributes to health improvement as well. 　　 

Part Ⅲ Vocabulary and Structure 20 minutes　　
Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A B C and D. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the centre. 

41. You would be ____ a risk to let your child go to school by himself. 　　 
A omitting B attaching C affording D running 　 
　 
42. He is always here It's ____ you've never met him. 　　 
A unique B strange C rare D peculiar 　 
　 
43. There has been a great increase in retail sales ____﹖ 　　 
A does there B isn't there C hasn't there D isn't it 　 
　 
44. We'd like to ____ a table for five for dinner this evening. 　　 
A preserve B reserve C retain D sustain 　 
　 
45. Although a teenager Fred could resist ____ what to do and what not to do. 　　 
A being told B telling C to be told D to tell 
　　 
46. The European Union countries were once worried that they would not have ____ supplies of petroleum. 　　 
A proficient B efficient C potential D sufficient 
　　 
47. In fact Peter would rather have left for San Francisco than ____ in New York.. 　　 
A to stay B stayed C staying D having stayed 　　 

48. He soon received promotion for his superiors realized that he was a man of considerable ____. 　　 
A ability B future C possibility D opportunity 　　 

49. Britain has the highest ____ of road traffic in the world—over 60 cars for every mile of road. 　　 
A popularity B density C intensity D prosperity 　 
　 
50. How is it ____ your roommate's request and yours are identical﹖ 　　 
A in all B at best C for all D by far 　　 

51. In my opinion he's ____ the most imaginative of all the contemporary poets. 　　 
A in all B at best C for all D by far 　　 

52. He didn't have time to read the report word for word he just ____ it. 　　 
A skimmed B observed C overlooked D glanced 　 
　 
53. The leader of the expedition ____ everyone to follow his example. 　　 
A promoted B reinforced C sparked D inspired 　　 

54. What a lovely party It's worth ____ all my life. 　　 
A remembering B to remember C to be remembered D being remembered 　 
　 
55. Who would you rather ____ with you George or me﹖ 　　 
A going B to go C have gone D went 　　 

56. The ____ goal of the book is to help bridge the gap between research and teaching, particularly between researchers and teachers. 　　 
A intensive B concise C joint D overall 　　 

57. The owner and editor of the newspaper ____ the conference.  
A were attending B were to attend C is to attend D are to attend 　 
　 
58. We left the meeting there obviously ____ no point in staying. 　　 
A were B being C to be D having 　　 

59. Their products are frequently overpriced and ____ in quality. 　　 
A influential B inferior C superior D subordinate 　　 

60. The neighborhood boys like to play basketball on that ____ lot. 　　 
A valid B vain C vacant D vague 　　 

61. These people once had fame and fortune now ____ is left to them is utter poverty. 　　 
A all that B all what C all which D that all 
　　 
62. To our ____ Geoffrey's illness proved not to be as serious as we had feared. 　　 
A anxiety B relief C view D judgment 
　　 
63. Many people like white color as it is a ____ of purity. 　　 
A symbol B sign C signal D symptom 　　 

64. The residents ____ had been damaged by the fire were given help by the Red Cross. 　　 
A all of their homes B all their homes 
C whose all homes D all of whose homes 
　　 
65. This research has attracted wide ____ coverage and has featured on BBC television's Tomorrow's World. 　　 
A message B information C media D data 　　 

66. I would never have ____ a court of law if I hadn't been so desperate. 　　 
A sought for B accounted for C turned up D resorted to 　　 

67. Investigators agreed that passengers on the airliner ____ at the very moment of the crash. 　　 
A should have died B must be dying C must have died D ought to die 　　 

68. The energy ____ by the chain reaction is transformed into heat. 　　 
A transferred B released C delivered D conveyed 　　 

69. ____ their work will give us a much better feel for the wide differences between the two schools of 　　 
thought. 　　 
A To have reviewed B Having reviewed C Reviewing D Being reviewed 
　　 
70. During the process great care has to be taken to protect the ____ silk from damage. 　　 
A sensitive B tender  C delicate D sensible 　　 

Part Ⅳ Short Answer Questions 15 minutes　　 
Directions: In this part there is a short passage with five questions or incomplete statements. Read the passage carefully. Then answer the questions or complete the statements in the fewest possible words not exceeding 10 words. 

　　As researchers learn more about how children’s intelligence develops they are increasingly surprised by the power of parents. The power of the school has been replaced by the home. To begin with all the factors which are part of intelligence—the child’s understanding of language learning patterns curiosity—are established well before the child enters school at the age of six. Study after study has shown that even after school begins children’s achievements have been far more influenced by parents than by teachers. This is particularly true about learning that is language-related. The school rather than the home is given credit for variations in achievement in subjects such as science.
　　In view of their power it’s sad to see so many parents not making the most of their child’s intelligence. Until recently parents had been warned by educators who asked them not to educate their children. Many teachers now realize that children cannot be educated only at school and parents are being asked to contribute both before and after the child enters school.
　　Parents have been particularly afraid to teach reading at home. Of course children shouldn’t be pushed to read by their parents but educators have discovered that reading is best taught individually—and the easiest place to do this is at home. Many four and five-year-old who have been shown a few letters and taught their sounds will compose single words of their own with them even before they have been taught to read. 　　 

Questions:(注意：答题尽量简短，超过10个词要扣分。每条横线限写一个英语单词，标点符号不占格。) 　　 
S1. What have researchers found out about the influence of parents and the school on children’s intelligence﹖ 
S2. What do researchers conclude about children’s learning patterns﹖ 
S3. In which area may school play a more important role﹖ 
S4. Why did many parents fail to make the most of their children’s intelligence﹖ 
S5. The author suggests in the last paragraph that parents should be encouraged to ________ 

Part Ⅴ Writing 30 minutes 
Directions:For this part you are allowed thirty minutes to write a composition on the topic Student Use of Computers. You should write at least 120 words and base your composition on the chart and the outline given below: 

1、上图所示为1990年、1995年、2002年某校大学生事业计算机的情况，请描述其变化； 
2、请说明发生这些变化的原因(可从计算机的用途、价格或社会发展等方面加以说明)； 
3、你认为目前大学生在计算机使用中有什么困难或问题? 

 Student Use of Computers 

2002年6月大学英语四级试题 录音文字材料 

Section A 
1. W I suppose you’ve bought some gifts for your family. 　　 
　 M Well I’ve bought a shirt for my father and two books for my sister. But I haven’t decided what to buy for my mother probably some jewels. 　　 
　 Q Who did the man buy the books for﹖　　 
2. W Look it says they want a junior sales manager and it seems like it’s a big company. That’ll be good for you might have to travel a lot. 
　 M Do they say anything about the experience﹖　　 
　 Q What are they talking about﹖　　 
3. W I think we’ve covered everything. What about a cup of coffee before we move onto the next item﹖　　 
　 M Good idea. I really can’t wait another minute. 
　 Q What does the woman suggest doing﹖　　 
4. W But what happens if it rains. What are we going to do then﹖　　 
　 M We’ll have to count on good weather. But if it does rain the whole thing will have to be canceled. 
　 Q What do we learn from the conversation﹖　　 
5. W You took an optional course this semester didn’t you﹖ How is it going﹖　　 
　 M Terrible It seems like the more the professor talks the less I understand. 
　 Q How does the man feel about the course﹖　　 
6. W Mark is playing computer games. 　　 
　 M Should he do that when the final exam is drawing near﹖　　 
　 Q What does the man think Mark should do﹖　　 
7. M Jack seems to think this year’s basketball season will be disappointing. 　　 
　 W That’s his opinion. Most others think differently. 　　 
　 Q What does the woman mean﹖　　 
8. M Is this the check-in counter for Flight 914 to Los Angeles﹖　　 
　 M Yes but I’m sorry the flight is delayed because of a minor mechanical problem. Please wait for further notice. 
　 Q What do we learn from this conversation﹖ 
9. M Excuse me I’d like to place an advertisement for a used car in this Sunday edition of your paper. 　　 
　 W Ok but you have to run your advertisement all week. We can’t quote rates for just Sunday. 　　 
　 Q Where is the conversation most probably taking place﹖　　 
10. M I spend so much time polishing my letter application. 　　 
　 W It’s worthwhile to make the effort .You know just how important it is to give impression . 　　 
　 Q What do we know about the man ﹖　　 

Section B 
Passage One 　　 
    Not everybody reads the daily newspaper .People who don’t read newspaper are sometimes referred to as non-readers . Early research has shown that the non-readers are generally low in education low in income either very young or very old .In addition non-readers are more likely to live in rural areas and have less contact with neighbours and friends .Other studies show that non-readers tend to isolate themselves from the community and less likely to own a home and seldom belong to local voluntary organizations 
　　Why don’t these people read daily paper ﹖ They say they don’t have the time they prefer radio or TVthey have no interest in reading a tale and besides they think newspapers are too expensive. Recent surveyshoweverhave indicated the portrait of the non-reader is more complicated than first thought .There appears to be a group of non-readers that do not fit the type mentioned above .They are high in income and fall into the age group of 26 to 65 .They are far move likely to report that they don’t have the time to read the papers and they have no interest in the content .Editors and publishers are attempting to win them back. First they are also adding news briefs and comprehensive indexes. This will help overcome the time problem. And they are also giving variety to newspaper content to help build the reader’s interest. 　　 

11. What is typical of non-readers according to early research﹖　　 
12. What are the finds of recent surveys﹖　　 
13. What are editors and publishers doing to attract the non-readers﹖　　 

Passage Two 　　 
     Did you know that there’s a kind of bird that can sew﹖ This called the tailor bird uses its mouth as a needle. It sews leaves together in the shape of a cup then it adds a layer of straw to the inside of the cup and lays its eggs there. Each bird species builds its own special kind of nest. The most common materials used for nests are grasses branches and feathers. A bird must weave these materials into a nest. Just imagine building a house without cement or nails to hold together　　 
     Another bird is called the weaver bird. The weaver bird builds a nest that looks like a basket the nest shaped like a pear with a hole in the middle. The hole is the door of the nest. A third bird is called the oven bird. The oven bird makes a nest that is very solid. The nest is made of mud. The oven bird forms the mud into the shape of an oven and then let it dry in the sun. The sun bakes the mud making it very hard. Not all birds make their homes in branches. Some birds build their nests on the ground while others bury their eggs under the ground. And some birds do not build nests at all. So when you look for nests and eggs in branches of the trees and bushes remember that some nests may be right your feet. 　　 

14. What does the nest built by tailor bird look like ﹖　　 
15. Why is there a hole in the weaver bird’s nest ﹖　　 
16. What is the oven bird’s nest made of ﹖　　 
17. What might surprise us about birds’ nests according to the speaker ﹖　　 

Passage Three 　　 
　　You can tell the age of a tree by counting its rings but these records of trees’ life really say a lot more. Scientists are using tree rings to learn what’s being happening on the sun’s surface for the last ten thousand years. Each ring represents a year of growth. As the tree grows it adds a layer to its trunk taking up chemical elements from the air. By looking up the elements in the rings for a given year scientists can tell what elements were in the air that year. Doctors Stevenson is analysing one element——carbon-14 in ring from both living and dead trees. Some of the rings go back almost ten thousand years to the end of the Ice Age. When Stevenson followed the carbon-14 trail back in time he found carbon-4 levels change with the intensity of solar burning. You see the sun has cycles. Sometimes it burns fiercely and other times it’s relatively calm. During the sun’s violent periods it throws off charged particles in fast moving strings called solar winds. The particles interfere with the formation of carbon-14 on earth. When there’s more solar wind activity less carbon-14 is produced. Ten thousand years of tree rings show that the carbon-14 level rises and falls about every 420 years. The scientists concluded that the solar wind activity must follow the same cycle. 

18. What is the purpose of the scientists in studying tree rings ﹖　　 
19. What affects the amount of carbon-14 on earth ﹖　　 
20. What do we learn from the passage about the solar wind activity ﹖ 

2002年6月大学英语四级考试试卷参考答案 

Part Ⅰ 1-20:DAACB CAADA CDCBB CAACC
Part Ⅱ21-40:CAADC BDCBB BACDA CBCAD
Part Ⅲ40-70:DBCCA DCABB DADAC DCBBC ABADC DCBCC 

Part Ⅳ Short Answer Question
S1.Parents have greater influence than school.
S2. They are established well at the age of six.
S3. subject such as science.
S4. They were warned by educators not to educate their children.
S5. teach reading at home 

Part Ⅴ WritingSample:Student Use of computers
     Students tend to use computers more and more nowadays. Reading this chart,we can find that the average number of hours a student spends on the computer per week has increased sharply.In 1990,it has less than 2 hours;and in 1995,it increased to almost 4 hours,and in 2000,the number soared to 20 hours.
     Obviously computers are becoming more and more popular.There are several reasons for this.First,computers facsilitate us in more aspects of life.Also,the fast developments of the Internet enlarges our demands for using computers.We can easily contact with friends in remote places through the Internet. Besides,the prices of computers are getting lower and lower,which enables more students to purchase them.
     However,there still exist some problems,such as,poor quality,outof date designs and so on.And how to balance the time between using computers and studying is also a serious problem.
     Anyhow,we will benefit a lot from computers as long as we use them properly. 
2002年12月大学英语四级考试试卷、答案
Part Ⅰ Listening Comprehension (20 minutes)
Section A
Directions:In this section,you will hear 10 short conversations.At the end of each conversation,a question will be asked about what was said.Both the conversation and the question will be spoken only once.After each question there will be a pause.During the pause,you must read the four choices marked A),B),C) and D),and decide which is the best answer.Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
Example:You will hear:
         You will read:
                A) At the office.
                B) In the waiting room.
                C) At the airport.
                D) In a restaurant.
From the conversation we know that the two were talking about some work they had to finish in the evening.This is most likely to have taken place at the office.Therefore,A)"At the office" is the best answer.You should choose on the Answer Sheet and mark it with a single line through the centre.
                                                                           Sample Answer [A] [B] [C] [D]
1.A) They are both anxious to try Italian food.         B) They are likely to have dinner together.
  C) The man will treat the woman to dinner tonight.    D) The woman refused to have dinner with the man.
2.A) It's only for rent, not fof sale.                  B) It's being redecorated.
  C) It's not as good as advertised.                   D) It's no longer available.
3.A) Colleagues.   B) Employer and employee.   C) Husband and wife.   D) Mother and son
4.A) She contacts her parents occasionally.          
  B) She phones her parents regularly at weekends.
  C) She visits her parents at weekends when the fares are down.
  D) She often calls her parents regardless of the rates.
5.A) The next bus is coming soon.                    
  B) The bus will wait a few minutes at the stop.
  C) There are only two or three passengers waiting for the bus.
  D) They can catch this bus without running.
6.A) The assignment looks easy but actually it's quite difficult.
  B) The assignment is too difficult for them to complete on time. 
  C) They cannot finish the assignment until Thursday.
  D) They have plenty of time to work on the assignment.
7.A) The man will go to meet the woman this evening.
  B) The man and the woman have an appointment at 7 o'clock. 
  C) The woman can't finish making the jam before 7 o'clock.
  D) The woman won't be able to see the man this evening.
8.A) She's learned a lot from the literature class.    B) She's written some books about world classics.
  C) She's met some of the world's best writers.       D) She's just back from a trip round the world.
9.A) The exam was easier than the previous one.      B) Joe is sure that he will do better in the next exam.
  C) Joe probably failed in the exam.          D) The oral part of the exam was easier than the written part.
10.A) She is tired of driving in heavy traffic.      B) She doesn't mind it as the road conditions are good.
   C) She is unhappy to have to drive such a long way every day.D) She enjoys it because she's good at driving. 
Section B Compound Dictation
注意：听力理解的B节(Section B)为复合式听写(Compound Dictation),题目在试卷二上， 现在请取试卷二。

Part Ⅱ Reading Comprehension (35 minutes)
Directions:There are 4 passages in this part.Each passage is followed by some questions or unfinished statements.For each of them there are four choices marked A),B),C) and D).You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage One
Questions 11 to 15 are based on the following passage.
    Like many of my generation, I have a weakness for hero worship. At some point, however, we all begin to question our heroes and our need for them. This leads us to ask: What is a hero?
    Despite immense differences in cultures, heroes around the world generally share a number of characterstics that instruct and inspire people.
    A hero does something worth talking a about. A hero has a story of adventure to tell and a community who will listen. But a hero goes beyond mere fame.
    Heroes serve powers or principles larger than themselves. Like highvoltage transformers, heroes take the energy of higher powers and step it down so that it c an be used by ordinary people.
    The hero lives a life worthy of imitation. Those who imitate a genuine hero experience life with new depth, enthusiasm, and meaning. A sure test for wouldbe heroes is what or whom do they serve? What are they willing to live and die for? If the answer or evidence suggests they serve only their own fame, they may be famous persons but not heroes. Madonna and Michael Jackson are famous, but who would claim that their fans find life more abundant?
    Heroes are cantalysts(催化剂) for change. they have a vision from the mountain top. They have the skill and the charm to move the masses. They create new possibilities. Without Gandhi, India might still be part of the British Empire. Without Rosa Parks and Martin Luther King, Jr., we might still have segregated (隔离的) buses, restaurants, and parks. It may be possible for large scale change to occur without leaders with magnetic personalities, but the pace of change would be slow, the vision uncertain, and the committee meetings endless.

11.Although heroes may come from different cultures, they _____________________.
A) generally process certain inspiring characteristics   B) probably share some weaknesses of ordinary people
C) are often influenced by previous generations          D) all unknowingly attract a large number of fans

12.According to the passage, heroes are compared to high-voltage transformers in that _______ .
A) they have a vision from the mountaintop                  B) they have a warm feelings and emotions
C) they can serve as concrete examples of noble principles  D) they can make people feel stronger and more confident

13.Madonna and Michael Jackson are not considered heroes because _________ .
A) they are popular only among certain groups of people   B) their performances do not improve their fans morally
C) their primary concern is their own financial interests D) they are not clear about the principles they should follow

14.Gandhi and Martin Luther King are typical examples of outstanding leaders who ___________ .
A) are good at demonstrating their charming characters     B) can move the masses with their forceful speeches
C) are capable of meeting all challenges and hardships     D) can provide an answer to the problems of their people
15.The author concludes that historical changes would ________ .
A) be delayed without leaders with inspiring personal qualities
B) not happen without heroes making the necessary sacrifices
C) take place if there were heroes to lead the people
D) produce leaders with attractive personalities
Passage Two
Questions 16 to 20 are based on the following passage:
     According to a survey, which was based on the responses of over 188,000 students , today's traditionalage college freshmen are "more materialistic and less  altruistic (利他主义的)" than at any time in the 17 years of the poll.
     Not surprising in these hard times, the student's major objective "is to be financially well off. Less important than ever is developing a meaningful philosophy of life." It follows then that today the most popular course is not literature or history but accounting.
     Interest in teaching, social service and the "altruistic" fields is at a low. On the other hand, enrollment in business programs, engineering and computer science is way up.
     That's no surprise either. A friend of mine (a sales representative for a chemic al company) was making twice the salary of her college instructors her first yea r on the job-even before she completed her twoyear associate degree.
While it's true that we all need a career, it is equally true that our civilization has accumulated an incredible amount of knowledge in fields far removed from our own and that we are better for our understanding of these other contributions- be they scientific or artistic. It is equally true that, in studying the diverse wisdom of others, we learn how to think. More important, perhaps, education teaches us to see the connections between things, as well as to see beyond our immediate needs.
     Weekly we read of unions who went on strike for higher wages, only to drive their employer out of business. No company: no job. How shortsighted in the long run !
     But the most important argument for a broad education is that in studying the ac cumulated wisdom of the ages, we improve our moral sense. I saw a cartoon recently which shows a group of businessmen looking puzzled as they sit around a conference table; one of them is talking on the intercom (对讲机)："Miss Baxter ," he says, "could you please send in someone who can distinguish right from wrong?"
     From the longterm point of view, that's what education really ought to be about.
16.According to the author's observation, college students __________ .
A) have never been so materialistic as today         B) have never been so interested in the arts
C) have never been so financially well off as today  D) have never attached so much importance to moral sense
17.The students' criteria for electing majors today have much to do with ________ .
A) the influences of their instructors               B) the financial goals they seek in life
C) their own interpretations of the courses          D) their understanding of the contributions of others
18.By saying "While it's true that... be they scientific or artistic" (Lines 1-3, Para. 5),the author means that _____.
A) business management should be included in educational programs
B) human wisdom has accumulated at an extraordinarily high speed
C) human intellectual development has reached new heights
D) the importance of a broad education should not be overlooked

19.Studying the diverse wisdom of others can ________ .
A) create varying artistic interests              B) help people see things in their right perspective
C) help improve connections among people          D) regulate the behavior of modern people

20.Which of the following statements is true according to the passage?
A) Businessmen absorbed in their career are narrowminded.   
B) Managers often find it hard to tell right from wrong.
C) People engaged in technical jobs lead a more rewarding life.
D) Career seekers should not focus on immediate interests only.

Passage Three
Questions 21 to 25 are based on the following passage:
    New technology links the world as never before. Our planet has shrunk. It's now a "global village" where countries are only seconds away by fax or phone satellite link. And, of course, our ability to benefit from this high-tech communications equipment is greatly enhanced by foreign language skills.
    Deeply involved with this new technology is a breed of modern businesspeople who have a growing respect for the economic value of doing business abroad. In modern markets, success overseas often help support domestic business efforts.
    Overseas assignments are becoming increasingly important to advancement within executive ranks. The executive stationed in another country no longer need fear being "out of sight and out of mind." He or she can be sure that the overseas effort is central to the company's plan for success, and that promotions often follow or accompany an assignment abroad. If an employee can succeed in a difficult assignment overseas, superiors will have greater confidence in his or her ability to cope back in the United Sates where crosscultural considerations and foreign language issues are becoming more and more prevalent (普遍的).
    Thanks to a variety of relatively inexpensive communications devices with business applications, even small businesses in the United States are able to get into international markets.
    English is still the international language of business. But there is an evergrowing need for people who can speak another language. A second language isn't generally required to get a job in business, but having language skills gives a candidate the edge when other qualifications appear to be equal.
    The employee posted abroad who speaks the country's principal language has an opportunity to fastforward certain negotiations, and can have the cultural insight to know when it is better to move more slowly. The employee at the home office who can communicate well with foreign clients over the telephone or by fax ma chine is an obvious asset to the firm.

21.What is the author's attitude toward high-tech communications equipment ?
A) Critical.    B) Indifferent.       C) Prejudiced.        D) Positive.

22.With the increased use of high-tech communications equipment, business people __________.
A) have to get familiar with modern technology     B) are gaining more economic benefits from domestic operations 
C) are attaching more importance to their overseas business      D) are eager to work overseas

23.In this passage, "out of sight and out of mind" (Lines 23, Para. 3) probably means ________ .
A) being unable to think properly for lack of insight   B) being totally out of touch with business at home
C) missing opportunities for promotion when abroad      D) leaving all care and worthy behind
24.According to the passage, what is an important consideration of international corporations in employing people today?
A) Connections with business overseas.            B) Ability to speak the client's language.
C) Technical knowhow.                           D) Business experience.
25.The advantage of employees having foreign language skills is that they can _______ .
A) better control the whole negotiation process         B) easily find new approaches to meet market needs 
C) fastforward their proposals to headquarters        D) easily make friends with businesspeople abroad
Passage Four
Questions 26 to 30 are based on the following passage:
    In recent years, Israeli consumers have grown more demanding as they've become wealthier and more wordly-wise. Foreign travel is a national passion; this summer alone, one in 10 citizens will go abroad. Exposed to higher standards of service elsewhere, Israelis are returning home expecting the same. American firms have also begun arriving in large numbers. Chains such as KFC, McDonald's and Pizza Hut are setting a new standard of customer service, using strict employee training and constant monitoring to ensure the friendliness of frontline staff. Even the American habit of telling departing customers to "Have a nice day" has caught on all over israel. "Nobody wakes up in the morning and say, 'Let's be nicer,'" says Itsik Cohen, director of a consulting firm. "Nothing happens without competition."
    Privatization, or the threat of it, is a motivation as well. Monopolies(垄断者) that until recently have been free to take their customers for granted now fear what Michael Perry, a marketing professor, calls "the revengeful(报复的) consumer." When ghe government opened up competition with Bezaq, the phone company, its international branch lost 40% of its market share, even while offering competitive rates. Says Perry, "People wanted revenge for all the years of bad service." The electric company, whose monopoly may be shortlived, has suddenly stopped requiring users to wait half a day for a repairman. Now, appointments are scheduled to the halfhour. The graceless EI Al Airlines, which is already at auction(拍卖), has retrained its employees to emphasize service and is boasting about the results in an ad campaign with the slogan, "You can f eel the change in the air." For the first time, praise out numbers complaints on customer survey sheets.

26.It may be inferred from the passage that _________ .
A) customer service in Israel is now improving
B) wealthy Israeli customers are hard to please
C) the tourist industry has brought chain stores to Israel
D) Israel customers prefer foreign products to domestic ones
27.In the author's view, higher service standards are impossible in Israel ________ .
A) if customer complaints go unnoticed by the management  B) unless foreign companies are introduced in greater numbers
C) if there's no competition among companies              D) without strict routine training of employees

28.If someone in Israel today needs a repairman in case of a power failure, _________ .
A) they can have it fixed in no time                B) it's no longer necessary to make an appointment
C) the appointment takes only half a day to make    D) they only have to wait half an hour at most

29.The example of El Al Airlines shows that ______________ .
A) revengeful customers are a threat to the monopoly of enterprises
B) an ad campaign is a way out for enterprises in financial difficulty
C) a good slogan has great potential for improving service
D) staff retraining is essential for better service
30.Why did Bezaq's international brance lose 40% of its market share?
A) Because the rates it offered were not competitive enough.
B) Because customers were dissatisfied with its past service.
C) Because the service offered by its competitors was far better.
D) Because it no longer received any support from the government.
Part Ⅲ Vocabulary and Structure (20 minutes)
Directions:There are 30 incomplete sentences in this part.For each sentence there are four choices marked A),B),C) and D).Choose the ONE answer that bestcompletes the sentence.Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

31.Such crimes may be so complex that months or years go by before anyone ________ them.
A) discovered       B) will discover     C) would have discovered          D) discovers
32.Though ______ in a big city, Peter always prefers to paint the primitive scenes of country life.
A) grown            B) raised            C) tended               D) cultivated
33.The careless man received a ticket for speeding. He _______ have driven so fast.
A) can't            B) wouldn't          C) shouldn't            D) mustn't
34.If people feel hopeless, they don't bother to _______ the skills they need to succeed.
A) adopt            B) acquire           C) accumulate           D) assemble
35.If I _______ harder at school, I would be sitting in a comfortable office now.
A) worked           B) were to work      C) had worked           D) were working
36.The shop assistant was dismissed as she was ________ of cheating customers .
A) accused         B) charged           C) scolded               D) cursed

37.All her energies are __________ upon her children and she seems to have little time for anything else.
A) guided          B) aimed             C) directed              D) focused
38.While crossing the mountain area, all the men carried guns lest they _________ by wild animals.
A) should be attacked    B) had been attacked     C) must be attacked        D) would be attacked
39.Everyone should be ___________ to a decent standard of living and an opportunity to be educated.
A) attributed            B) entitled              C) identified              D) justified

40.His wife is constantly finding __________ with him, which makes him very angry.
A) errors                B) shortcomings          C) fault                   D) flaw
41.Vitamins are complex ________ that the body requires in very small amounts .
A) matters              B) materials             C) particles                D) substances
42.Apart from caring for her children, she has to take on such heavy _____ housework as carrying water and firewood.
A) timeconsumed      B) timelyconsumed      C) timeconsuming      D) timelyconsuming
43.Anna was reading a piece of science fiction, completely _______ to the outside world.
A) having been lost    B) to be lost            C) losing            D) lost

44.The police are trying to find out the _______ of the woman killed in the traffic accident.
A) evidence        B) recognition          C) status            D) identity
45.All human beings have a comfortable zone regulating the ______ they keep from someone they talk with.
A) distance        B) scope          C) range                D) boundary
46.We have planned an exciting publicity _______ with our advertisers.
A) struggle        B) battle         C) campaign             D) conflict
47.________ the help of their group, we would not have succeeded in the investigation.
A) Besides      B) Regardless of       C) But for          D) Despite
48.______ much is known about what occurs during sleep, the precise function of sleep and its different stages remains largely in the realm of assumption. 
A) Because      B) For         C) Since           D) While
49.John doesn't believe in ______ medicine; he has some remedies of his own .
A) standard     B) regular      C) routine         D) conventional
50.Owing to ________ competition among the airlines, travel expense have been reduced considerably.
A) fierce      B) strained      C) eager          D) critical 
51.They always give the vacant seats to comes first.
A) whoever      B) whomever         C) who         D) whom

52.In Africa, educational costs are very low for those who are _________ enough to get into universities.
A) ambitious        B) fortuante         C) aggressive         D) substantial
53.Professor Wang,_______ for his informative lectures, was warmly receive d by his students.
A) knowing        B) to be known       C) known          D) having known
54.Our manager is _______ an important customer now and he will be back this afternoon.
A) calling on       B) calling up         C) calling in         D) calling for

55.A fire engine must have priority as it usually has to deal with some kind of _______ .
A) precaution       B) crisis          C) emergency         D) urgency
56.He said that the driver must have had an accident; otherwise he _____ by then.
A) would have arrived    B) should arrive     C) must have arrived     D) would arrive
57.The film provides a deep _______ into a wide range of human qualities and feelings.
A) insight          B) fancy        C) imagination          D) outlook

58.It is high time that such practices __________ .
A) are ended        B) be ended         C) were ended         D) must be ended

59.Urban crowdedness would be greatly relieved if only the _____  charged o n public transport were more reasonable.
A) fees        B) payments      C) fares        D) costs
60.The doctor had almost lost hope at one point, but the patient finally _________ .
A) pulled out      B) pulled up        C) pulled through           D) pulled over

Part Ⅳ Cloze (15 minutes)
Directions:There are 20 blanks in the following passage.For each blank there are four choices marked A),B),C) and D) on the right side of the paper.You should choose the ONE that best fits into the passage.Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

     A language is a signaling system which operates with symbolic vocal sounds (语 声), and which is used by a group of people for the purpose of communication.
     Let's look at this  61  in more detail because it is language, more than anything else,  62  distinguishes man from the rest of the  63  world.
     Other animals, it is true, communicate with one another by  64  of cries: for example, many birds utter  65  calls at the approach of danger; monkeys utter  66  cries, such as expressions of anger, fear and pleasure.  67  these various means of communication differ in important ways  68  human language. For instance, animals' cries do not  69  thought s and feelings clearly. This means basically, that they lack structure. They lack the kind of structure that  70  us to divide a human utterance into  71 .
    We can change an utterance by  72  one word in it with  73 : a good illustration of this is a soldier who can say, e.g ., "tanks approaching from the north",  74  who can change one word and say "aircraft approaching from the north" or "tanks approaching from the west"; but a bird has a single alarm cry,  75  means "danger!"
This is why the number of  76  that an animal can make is very limited: the great tit (山雀) is a case  77  point; it has about twenty different calls,  78  in human language the number of possible utterances is  79 . It also explai ns why animal cries are very  80  in meaning.

61.A) classification           B) definition       C) function          D) perception
62.A) that                     B) it               C) as                D) what
63.A) native                   B) human            C) physical          D) animal
64.A) ways                     B) means            C) methods           D) approaches
65.A) mating                   B) exciting         C) warning           D) boring
66.A) identical                B) exciting         C) different         D) unfamiliar
67.A) But                      B) Therefore        C) Afterwards        D) Furthermore
68.A) about                    B) with             C) from              D) in
69.A) infer                    B) explain          C) interpret         D) express
70.A) encourage                B) enables          C) enforces          D) ensures
71.A) speeches                 B) sounds           C) words             D) voices
72.A) replacing                B) spelling         C) pronouncing       D) saying
73.A) ours                     B) theirs           C) another           D) others
74.A) so                       B) and              C) but               D) or
75.A) this                     B) that             C) which             D) it
76.A) signs                    B) gestures         C) signals           D) marks
77.A) in                       B) at               C) of                D) for
78.A) whereas                  B) since            C) anyhow            D) somehow
79.A) boundless                B) changeable       C) limitless         D) ceaseless
80.A) ordinary                 B) alike            C) common            D) general
试 卷 二
注意事项

一、将校名、姓名、学校代号填入本页左面各项内，准考证号填入右下角。
二、试卷二共两部分：Part Ⅰ听力理解的B节复合式听写(Compound Dictation)的答卷和Pa rt Ⅴ写作(Writing)，注意不要漏做。
三、答案直接做在试卷二上，用钢笔或圆珠笔书写。
四、在考试过程中要注意对自己的答案保密。若被他人抄袭，一经发现，后果自负。

Part Ⅰ
Section B Compound Dictation
Directions: In this section, you will hear a passage three times.When the passage is read for the first time, you should listen carefully for its general idea. Then listen to the passage again. When the passage is read for the second time, you are required to fill in the blanks numbered S1 to S7 with the exact words you have just heard. For blanks numbered from S8 to S10 you are required to fill in the missing information. You can either use the exact words you have just heard or write down the main points in your own words. Finally, when the passage is read for the third time, you should check what you have written.
注意：本试题答完后，必须卷面朝下放置，不得把答题内容暴露在外，否则以作弊论处。

      It's difficult to imagine the sea ever running out of fish. It's so vast, so deep, so (S1)___________. Unfortunately, it's not bottomless. Overfishing, (S2)________ with destructive fishing practices, is killing off the fish and (S3)________ their environment.
      Destroy the fish, and you destroy the fishermen's means of living. At least 60 ( S4)___________ of the world's commercially important fish (S5)____________ are already over fished, or fished to the limit. As a result, governments have had to close dow n some areas of sea to commercial fishing.
      Big, hightech fleets (S6)___________ that everything in their path is pulled out o f water. Anything too small, or the wrong thing, is thrown back either dead or d ying. That's an (S7)_________ of more than 20 million metric tons every year.
     (S8)__________________________ .
     In some parts of the world, for every kilogram of prawns (对虾) caught, up t o 15 kilograms of unsuspecting fish and other marine wildlife die, simply for being in the wrong place at the wrong time.
     True, (S9)________________________ , before every ocean becomes a de ad sea.
     (S10)____________________ , then catch them in a way that doesn't kill other innocent sea life.

Part Ⅴ Writing (30 minutes)
Directions:For this part,you are allowed thirty minutes to write a composition on the topic It Pays to Be Honest.You should write at least 120 words according to the outline given below in Chinese:
1.当前社会上存在着许多不诚实的现象
2.诚实利人利己，做人应该诚实

It Pays to Be Honest
2002年12月大学英语四级考试试卷录音文字材料 
Part Ⅰ Listening Comprehension
Section A
1.M: Mary, would you join me for dinner tonight?
W: You treated me last weekend. Now, it's my turn. Shall we try something Italian?
Q: What do we learn from the conversation? 

2.W: Good afternoon. I'm calling to inquire about the fourbedroom house you advertised in the newspaper.
M: I am sorry, but it's already sold.
Q: What do we learn about the house from the conversation?
3.W: John, what are you doing on your computer? Don't you remember your promise?
M: This is not a game. It's only a cross word puzzle that helps increase my vocabulary.
Q: What is the probable relationship between the speakers?

4.M: Do you still keep in touch with your parents regularly after all these years?
W: Yes, of course. I call them at weekends when the rates are down fifty percent .
Q: What do we learn from the woman from the conversation?

5.M: Hurry, there is a bus coming.
W: Why run? There will be another one in two or three minutes.
Q: What does the woman mean?

6.M: Wow, that's a big assignment we got for the English class.
W: Well, it's not as bad as it looks. It isn't due until Thursday morning.
Q: What does the woman mean?

7.W: Hello, is that Steve? I'm stuck in a traffic jam. I'm afraid I can't make it before seven o'clock.
M: Never mind. I'll be here waiting for you.
Q: What do we learn from the conversation?

8.M: You really seem to enjoy your literature class.
W: You're right. It has opened a new world for me. I'm exposed to the thoughts of some of the world's best writers. I've never read so much in my life.
Q: What does the woman mean?
9.W: Listen to me, Joe, the exam is already a thing of the past. Just forge t about it.
M: That's easier said than done.
Q: What can we infer from the conversation?

10.M: I hear you drive a long way to work everyday.
W: Oh, yes. It's about sixty miles. But it doesn't seem that far, the road is not bad, and there's not much traffic.
Q: How does the woman feel about driving to work?

Section B
    It's difficult to imagine the sea ever running out of fish. It's so vast, so deep, so mysterious. Unfortunately, it's not bottomless. Overfishing, coupled with destructive fishing practices, is killing off the fish and ruining their environment.
    Destroy the fish, and you destroy the fishermen's means of living. At least 60 percent of the world's commercially important fish species are already overfish ed, or fished to the limit. As a result, governments have had to close down some areas of sea to commercial fishing.
    Big, hightech fleets ensure that everything in their path is pulled out of water. Anything too small, or the wrong thing, is thrown back either dead or dying. That's an average of more than 20 million metric tons every year.
When you consider, that equals a quarter of the world catch, you begin to see the size of the problem.
    In some parts of the world, for every kilogram of prawns (对虾) caught, up t o 15 kilograms of unsuspecting fish and other marine wildlife die, simply for being in the wrong place at the wrong time.
     True, some countries are beginning to deal with this problem, but it's vital we find rational ways of fishing, before every ocean becomes a dead sea.
     It would make sense to give the fish enough time to recover, grow to full size and reproduce, then catch them in a way that doesn't kill other innocent sea life .

2002年12月大学英语四级考试试卷参考答案
Part Ⅰ Listening Comprehension
Section A
1-10: B D D B A D B A C B 

Section B
S1 mysterious   S2 coupled   S3 ruining   S4 percent   S5 species
S6 ensure       S7 average
S8 When you consider that equals a quarter of the world catch, you begin to see the sides of the problem.
S9 some countries are beginning to deal with this problem, but it's vital we fin d rational ways of fishing
S10 It would make sense to give the fish enough of time to recover, grow to full size and reproduce 

Part Ⅱ Reading Comprehension
Passage one 11-15: A C B D A
Passage two 16-20: A B D B D
Passage three21-25: D C C B A
Passage four 26-30: A C D D B

Part Ⅲ Vocabulary and Structure
31-60:DBCBC ADABC DCDDA BCDDA ABBAC AACBB

Part Ⅳ Cloze
61-80:BADBC CACDB CACDC CAACD

Part Ⅴ Writing

写作指导:写文章之前，应该先花上一分钟时间好好地审一下题。这是一篇命题作文，题目是It Pay s  to Be Honest。其中pay to意为“有利，值得”。因此文章应围绕“做人诚实非常值得”这 一主题展开。在指令中给了中文提纲，所以按照提纲，第一段应介绍当前社会存在着许多不 诚实的现象，如商人卖假货欺骗顾客，学生考试作弊欺骗老师等等，同时在这一段应表明自 己对这种现象的反感。

第二段提出观点诚实利人利己，做人应该诚实。并用具体的例子来说明这一点，例子可以 是 正面的，也可以是反面的。如范文中用的就是“狼来了”的反面例子。 最后，结尾应强调 做人应该诚实，这是人的基本素质。

Sample Writing:It Pays to Be Honest

From the mass media and also with our own eyes, we know much dishonest behaviour  existed in our society. For example, businessmen sell fake products to cheat their customers; students copy other one's homework or download illicit paper from  Internet to cheat their teachers; and even worse, there are medical person produce fake medicine harming the patients. Seeing our society is filled with so man y dishonest phenomena, I can't help asking myself what's wrong with us ? 
When we were very young we were taught the importance of being honest. I am  sure everyone must still remember that story “wolf is coming”. In the story the  child kept cheating other people that wolf was coming, but when the wolf really came, nobody trusted his words and he finally suffered his own dishonesty. Also w e have heard many stories that people benefit from their virtues of honesty.
So since we have already known being honest benefit both ourselves and othe r people, why many of us are still dishonest? I hope everyone to bear in mind th at being honest is the basic quality of human being and then we won't be afraid of any "wolf".

 

